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Codeforces Round #700 (Div. 1)

good

A. Searching Local Minimum
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int n;
int query(int pos
pos==n+
n+1;

printf("? %d\n",pos);
fflush(stdout);
read _int();

void ans(int pos
printf("! %d\n",pos);
fflush(stdout) ;

int main

n=read int();
int lef=1,rig=n,mid;
lef<rig
mid=lef+rig>>1;
query (mid)<query (mid+
rig=mid;

lef=mid+1;
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ans (lef);

C. Continuous City

gd
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const int MAXN=33;
struct Edge

int u,v,w;
vector<Edge> Edges;
int v/MAXN];
int main

int L=read int(),R=read int(),pos=31;

puts("YES");
_rep(i,?2, Edges.push back(Edge{1,i,L});
int i=31;i>1;i--)v[i]=1<< -1);
R-=L;
R

int offset=v/pos];
_for(i,pos+1,
R>=v|1i
R-=v[i];
Edges.push back(Edge{pos,i,offset-v|i ;
offset+=v/i];

R
R--;
Edges.push back(Edge{pos,32,o0ffset});

pos--;
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printf("%sd %d\n",32, (int)Edges.size :
_for(i,0,Edges.size
printf("%d %d %d\n",Edges/i|.u,Edges|[i]|.v,Edges/i|.w);

1

D. Odd Mineral Resource

gd
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const int MAXN=3e5+5;
int blk sz;
struct Edge
int to,next;
edge [MAXN<<1];
int head MAXN|,edge cnt,dfnl1[MAXN|,dfn2[MAXN|,invn|MAXN<<1]|,dfs t;
void AddEdge(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u/=edge cnt;

void dfs(int u,int fa
dfnlul=++dfs t;
invn(dfs tl=u;
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
v==fa ;
dfs(v,u);

dfn2[ul=++dfs t;
invn(dfs tl=u;

namespace LCA
int d/MAXN|,sz/MAXN|, fIMAXN];
int h_son[MAXN|,mson|MAXN|,p[MAXN|;
void dfs _1(int u,int fa,int depth
szlul=1;flul=fa;d/ul=depth;mson u|=0;
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int i=head/u!;i;i=edgeli].next
int v=edgeli].to;
v==Tfa

;

dfs 1(v,u,depth+1);

szlul+=sz|v];
sz[v/>msonlu

h sonlul=v,mson|ul=sz|v];

void dfs 2(int u,int top
plul=top;
mson|ul)dfs 2(h son|ul,top);
int i=head|u];1i;i=edge[i].next
int v=edgel[i].to;

==f[ul||v==h_son|u
dfs 2(v,v);
void init(int root){dfs 1(root,0,0);dfs 2(root,root);
int query(int u,int v
piul!=plv
diplull<d[plv swap(u,v);
u=fiplull;

diul<d[v]?u:v;

struct query
int 1,r,idx,vl,vr;
bool operator < (const query &b)const
1/blk sz!=b.l/blk sz 1<b.1;
1/blk sz)&1)?(r<b.r):(r=b.r);

g/ MAXN;
int a/MAXN]|,ans|[MAXN]|;
bitset<MAXN> s;
int query(int vl,int vr
int v=s. Find next(vl-1);
V>Vr -1;
&

int main

int n=read int(),m=read int();
blk sz=n/sqrt(m)+1;
_rep(i,l,njalil=read int();
_for(i,1,n

int u=read int(),v=read int();
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AddEdge(u,v);
AddEdge(v,u);

LCA::init C
dfs(1,0);
_rep(i,1,m

int u=read _int(),v=read int(),l=read int(),r=read_int
dfnlul>dfnlv])swap(u,v);
LCA::query(u,v)==u

glil.l=dfnllul,qlil.r=dfnllv];

’

q/il.l=dfn2[ul,qlil.r=dfnllv];
qlil.idx=1i,qli].vl=1,qli].vr=r;

sort(q+l,g+m+1);
int lef=1,rig=0;

_rep(i,1,m
lef>qli].l)s.flip(alinvn|--lef ;
rig<qlil.r)s.flip(alinvn|++rig ;
lef<qlil.l)s.flip(alinvn|lef++ ;
rig=q/il.r)s.flip(alinvn|rig-- ;
int u=invniqlil.l],v=invniqli].r],p=LCA::query(u,v);
u==p
ans|qlil.idx/=query(qlil.vl,qlil.vr);
s.flip(alpl);
ans/qli].idx/=query(qlil.vl,qlil.vr);
s.flip(alpl);
_rep(i,1l,m

enter(ans|i]);

’
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